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1) Basic Setting

import numpy as np
import hbpy as hb

from KEMP import Basic FDTD, Dielectric, to epr, to SI, to NU
c = 299792458.
nm = le-9

o SINXIH “py"2 =l python IHYS DHELY
- Windows: 2% =2 python L= HEY
e Linux: vi editor 0|23} ™E!

« Python L2 %I TEZ AEEICE
« Numpy: =2 74|M
« h5: H|O|E =
- KEMP: KEMPOM &1,

H} |- = =K
I_ = 1
« XFF AFEOHE ALt EHIE HO| (B4 c, 20
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2) Space Setting

dx, dy, dz = [1*nm, 1*nm, 1*nm]

nx, ny, nz = [30, 30, 2000]

¥ = np.ones(nx, dtype=np.floatéed) *dx

Yy = np.ones(ny, dtype=np.floated) *dy

z = np.ones(nz, dtype=np.floated) *dz

space grid = (X, vy ,2)

lx, 1ly, lz = dx*nx, dy*ny, dz*nz

fdtd = Basic FDTD('2D', space grid, dtype=np.complexecd, engine="intel cpu')
pml apply = {'=x':"" [ ‘'y':"" , tztit -0}
pbc apply = {'x":True, 'v':True, 'z':False}
fdtd.apply PML(pml apply)

fdtd.apply PBC(pbc apply)

e dx, dy, dz: ©F 7t9o| A7
« nx, ny, dzz & AlEg0| S| 7t Il
« Ex) nx=1000|2t™ x&= 0~10077+X| 100+1 ZtO| S0{ZtCt
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2) Space Setting

dx, dy, dz = [1*nm, 1*nm, 1*nm]

nx, ny, nz = [30, 30, 2000]

¥ = np.ones(nx, dtype=np.floatéed) *dx

Yy = np.ones(ny, dtype=np.floated) *dy

z = np.ones(nz, dtype=np.floated) *dz

space grid = (X, vy ,2)

lx, 1ly, lz = dx*nx, dy*ny, dz*nz

fdtd = Basic FDTD('2D', space grid, dtype=np.complexecd, engine="intel cpu')
pml apply = {'=x':"" [ ‘'y':"" , tztit -0}
pbc apply = {'x":True, 'v':True, 'z':False}
fdtd.apply PML(pml apply)

fdtd.apply PBC(pbc apply)

pml_apply: PML &7
.« Ir=9 7&'@':”3#0' z=0| PML 278 (Z:'+-)

o o

pbc_apply: PBC &7
. LFHX| x y:01| PBC A7 (Truee PBC &7, False= PBC O/X|H
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2) Space Setting

dx, dy, dz = [1*nm, 1*nm, 1*nm]

nx, ny, nz = [30, 30, 2000]

¥ = np.ones(nx, dtype=np.floatéed) *dx

Yy = np.ones(ny, dtype=np.floated) *dy

z = np.ones(nz, dtype=np.floated) *dz

space grid = (X, vy ,2)

lx, 1ly, lz = dx*nx, dy*ny, dz*nz

fdtd = Basic FDTD('2D', space grid, dtype=np.complexecd, engine="intel cpu')
pml apply = {'=x':"" [ ‘'y':"" , tztit -0}
pbc apply = {'x":True, 'v':True, 'z':False}
fdtd.apply PML(pml apply)

fdtd.apply PBC(pbc apply)

Tip

- x, y ZLE PBC7} E0{7IEE, HE A L= 5H nx, ny U= EA 2.

. PMLS 3t %tog 102 SE0{7IE 2, @] ZEO A= 222 0~97t
1991~2ooo_01| PMLO| 478 =IC},

—y
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3) Structure Setting

End Point

Ix=30nm

100nm slabl  slab2

ly=30nm

y

Start Point | a 1000 1100 1200
Slabl z

diell = Dielectric(to epr(fdtd, n=2.))

dielZ = Dielectric(to epr(fdtd, n=3.))

slabl = structures.Box(diell, ((O0.*nm,0.%*nm,1000.*nm-dz/2),(1x,1y,1100.*nm-dz/2)))
slab? = structures.Box(diel2, ((0.*nm,0.%*nm,1100.*nm-dz/2),(1x,1ly,1200.*nm-dz/2)))
fdtd.set structures([slabl,slab2])

- O[O AFER &= slab2 FH7F 100nm=E = Y5tH 2t N
e Slab= THE7| I8 KEMPO| structure =8 7|5 = 7} &4are
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3) Structure Setting

End Point

Ix=30nm

1oonm slabl  slab2
ly=30nm

y

Start Point ‘ 0 1000 1100 1200
Slabl z

diell = Dielectric(to epr(fdtd, n=2.))
dielZ = Dielectric(to epr(fdtd, n=3.))
slabl = structures.Box(diell, ((O0.*nm,0.%*nm,1000.*nm-dz/2),(1x,1y,1100.*nm-dz/2)))
slab? = structures.Box(diel2, ((0.*nm,0.%*nm,1100.*nm-dz/2),(1x,1ly,1200.*nm-dz/2)))

fdtd.set structures([slabl,slab2])

+ structures.Box(Z2E, (A|ZHE),(EH))S HOs2H, KEMP= ¢ 18 E2 =
E'WIE DFECEH 7| AEE D BE- Q| f|X|= meter EfOIE & 0] F O} OF o},
O EhR{ A M CFAl grid= A LA @XHE =0[7| ]l oF ZHO| X} X|St= Z O]

O| MHtS WHZFC} fdtd.set structuresE Eoff LHA Bt= slabg M-& 0L},
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4) Wave Setting

- || =

Y

[ o sre_pas=50
Z

wavelength = np.arange (400, 801, 10.)*nm
src pos=50

trs pos=-50

inc = fdtd.apply direct source('ey', ((0,0,src pos), (-1,

-1,src pos)))

« WA ™RZ|O} spectrum SEOE “535_ Ct 7| M= 400nmEEf 800nm7IHX|

10nm tHAO 2 MHEGISLCE 0| A2 2 400nm, 410nm ... 800nmA|A12Q| G| O] E
= oloju £ oIt
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4) Wave Setting

- || =

Y

[ 0 sre_pas=50
Z

wavelength = np.arange (400, 801, 10.)*nm
src pos=50

trs pos=-50

inc = fdtd.apply direct source('ey', ((0,0,src pos),(-1,-1,src pos)))

* Plane WaveZ Pt=7| 2I5H, Wave sourcel| zZ& 2| X|(src_pos)E "ollF=1,
Poynting vectorg &785t2] St= z& {IX(trs_pos)E “JotC} OHX|BS =

= O -

fdtd.apply_direct_source('polarlized electric field’, ((0,0,src_pos),(-1,-1,src_pos)))

g MO{FH, & &sto 2 T#St= xy-plane wave?t BHS O ZICE
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5) FDTD Settlng

print 'Sett Complete
tc = 500
ts = 50.

tmax = 20000

ex src = np.zeros(tmax,
ey src = np.zeros(tmax,
hx src = np.zeros(tmax,
hy src = np.zeros(tmax,
ex trs = np.zeros(tmax,
ey trs = np.zeros(tmax,
hx trs = np.zeros(tmax,
hy trs = np.zeros(tmax,

fdtd.updateE ()
fdtd.updateH()

ex srcl[tstep] = fdtd.ex[:,:,
ey src[tstep] = fdtd.eyl[:,
hx src[tstep] = fdtd.hx[:,

hy trs[tstep] = fdtd.hyl[:,

inc.set source(src)

nd READY to RUN'

dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex6d)
dtype=np.complex&d)

Jdfor tstep in xrange (tmax):
src = np.exp (- (tstep-tc) **2/(ts**2))

src_pos].mean()
:,5rc_pos].mean()
:,5rc_pos].mean()

hy srcl[tstep] = fdtd.hyl[:,:,src_pos].mean()
ex trs[tstep] = fdtd.ex[:,:,trs pos].mean()
ey trs[tstep] = fdtd.eyl[:,:,trs pos].mean()
hx trs[tstep] = fdtd.hx[:,:,trs_pos].mean()

:,trs_pos].mean()

print('Simulation Complete')

-« BAIZ

2t wave= Gaussian Pulse2 L—;%'_T'_, Gaussian
function®| A AFEE constantE B A E™SH, FDTD
step(wave/| 2ME|= A|ZhHhS HHTICE AIEE wave
7} xy-plane waveO|d y-polarized electric field&
source2 A7 [[1-'-01| Poynting vector®| z’d &2t Lt
271| =ICt 2t Zf stepOfCt X &2 x, y A '='9| field
£ 27l (src_posit trs_pos)M' 0= O =L S’cepceD AR
St forme= A d5t 0 wavel|| AFEE gaussian function
O ""01fo Off stepOFCt 7(17‘“’* f|eld._ xy & HOf A

%‘— P 2f=0| HWadl-22 pbcE ’%*%a* A= 25|
EA x4f10t v H':*EI" field 4f-= AtESHCE 1 Cf
= WaveE 20{z1 FDTD 71|*+° StCt.
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6) Data Collection

dt ST
tateps
t =

freqgs

SrcC

src_ ft

to S5I(fdtd,
np.arange (tmax, dtype=fdtd.dtype)
tsteps*dt SI

"time'

c/wavelength
np.exp(-(tsteps-tc) **2/ (ta*x*2))

, fdtd.dt)

((dt SI/(Z2.*np.pi))*srclnp.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:]1)) .sum(1l)

ex src_ft = ((dt_S5I/(2.*np.pi))*ex src[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])) .sum(1l)
ey src_ft = ((dt_SI/(Z2.*np.pi))*ey src[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])) .sum(1l)
hx src ft = ((dt _SI/(2.*np.pi)) *hx src[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])).sum(1l)
hy src ft = ((dt SI/(2.*np.pi))*hy src[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])).sum(1)
ex trs ft = ((dt SI/(2.*np.pi))*ex trs[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])) .sum(1l)
ey trs ft = ((dt_SI/(2.*np.pi))*ey trs[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])) .sum(1l)
hx trs ft = ((dt_SI/(2.*np.pi))*hx trs[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])) .sum(1l)
hy trs ft = ((dt_SI/(2.*np.pi)) *hy trs[np.newaxis,:]*np.exp(-2.j*np.pi*fregs[:,np.newaxis]*t[np.newaxis,:])).sum(1l)
sz ref ft = np.zeros(len(wavelength), dtype=np.complextd)

sz trs ft = np.zeros(len(wavelength), dtype=np.complex6d)

sz ref ft = ex src ft*np.conjugate(hy src ft)-(ey src ft-src ft)*np.conjugate(hx src ft+src ft)

sz _trs ft = ex trs ft*np.conjugate(hy trs ft)-ey trs ft*np.conjugate(hx trs ft)

f = hb.File('./save/%s.hb" %'slab','w'")
f.create dataset('Sz ref', data=sz ref ft)

f.create dataset('Sz trs', data=sz trs ft)
f.close()
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6) Data Collection

FDTDE &3l time domain Ol @2 HO|HE frequency domain 22 Ht 7| @[3l Fourier

transform =3

A2t 2r2 7| 2[5 FOTDO| - =l time2 Sl unit2 2 HESI1 &E step =(tmax)E 72!
array 4. O|E O| &5l A|Zt0| CHDE arrayE BHSO{LHLD, A BHE I S ALHQ| arrayE 0| &
ol frequencE LtEfLH= array= ‘d-d.

ReflectanceE Tot7| ISHA= slabOl| A BEALE| = 20 ER.

src_posOf| Al Lt2 = H|O|E = BtALE[= H|O|E 2} sourcel| 0|2 =, sourceE 2 b 3=0{0f
OrC} MF2fA] O] [Tt source Wt ERSIEE, Zf stepO S E[= source 4f= 72 array(src)
£ IS0 =0

stepOf| [IHE fieldS (ex_src, ey_src, hx_src, hy_src, ex_trs, ey_trs, hx_trs, hy_trs)2t source(src) =
Fourier transform

RTE 17| ¢I5 ER?t HO|H = wavelengthO| [HE poynting vectorO| 2 £, O|& [Tt array
£ S (sz_ref ft, sz trs_ft) A4,

1 ChS YO{tH fieldE O| 23l trs_posH A 2| poynting vector®t, BFAFE|O] LE2 poynting vector
= Atk

hdf52 poynting vectorg MEetCt 07| M MY E[= THZ O[S 'slab.h5' O| L.
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7) Execution
 Window

+ Tpys &AL

* Linux
* Python It (1.py)0| U= LM H=55 HHO “python 1.py"= EHTH
Ct.
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8) Calculation of T, R, A

Reflectance Theory
Transmittance Theory
Reflectance Simulated
—— Transmittance Simulated

1.0 1

0.8 1

0.6

0.4

0.2 4

0.0 1

T T T T T T T T T
400 500 600 700 800
Wavelength (nm)

« RTE 75}7| {8 7= Pulse intensity?t 2222, slab= LDX| A2 AL}
Ol A simulation= ¢HH & =2{0fF StC} Slab= 8021 H 29O :'59| OrX|2) =
Ol M slab1, slab2E 7(l-rJ':HEl':':| =},

« HAf5 XL Y O|F2 CtEA 22 (0 E =0 noneslab), &2 1P°dS HH=SHC
SlabO| =X{g [If &= §|O|E{ Q] real ﬂ; Sz_ref1, Sz_trs1 O|2f St slabO| §f
= M HIO|E Q| real 2f= Sz_ref0, Sz_trsO2f1 OUW. 2™ R = Sz_refl /

Sz trsO, T = Sz trs1 / Sz trsO, A =1—-R - T 7} =IC},



